Multiplication et Division par 10 (H)

Trouvez chaque produit ou quotient.

9,25 x 10 = 1,1+-10=
8,62 +10= 7,64 X 10 =
2,3589 +- 10 = 9,6 -10 =
7,4+ 10 = 579 x10 =
5,5688 X 10 = 3,69 - 10 =
7,9 +-10 = 3,8385 x 10 =
6,1131 + 10 = 7,021 +-10 =
9,93 +10= 3,064 X 10 =
48 +10= 7,2167 - 10 =
8,82 +~10= 2,482 x 10 =
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Multiplication et Division par 10 (H) Solutions

Trouvez chaque produit ou quotient.

9,25 x10=92,5

8,62 +10=0,862

2,3589 - 10 =0,23589

7,4+10=0,74

5,5688 x 10 = 55,688

7,9 +10=0,79

6,1131 +-10=0,61131

9,93 +-10=0,993

48-+10=0,48

8,82 +10=0,882

1,1 +10=0,11

7,64 x10=176,4

9,6 -10=0,96

579 x10=579

3,69 +~10=0,369

3,8385 x 10 = 38,385

7,021 +10=0,7021

3,064 X 10 = 30,64

7,2167 +-10=0,72167

2,482 x 10 = 24,82
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